;‘iﬁ'n’:’a‘iKiEE?%

7K =1

T
Es

OFmbR (7-15: 2-3)

K - AIERVORERRLER

k- mEn | EKEF AR N RHigEK - BIE GEXEBKESZTHAT) KEREHFZR OKER) " =
2K - BIE EKIERT [1R/KE > No. —
FRKERRE | RBIEREE| KE | 8K - AEE | KERKE ®REH HoE
NP 2:05 0.52mg/1| 22°C
68308 (K) thiE -
ANEKRE 2:00 0.48mg/1| 23°C EHHE
NP 4:25 0.56mg/1| 23°C =
TH58 (X) =
AEKIE 4:20 0.48mg/1| 23°C /
NP 3:00 0.50mg/1| 24°C
7 A148 (K) =ZH
AEKIE 3:05 0.46mg/1| 25°C
P& 4:35 0. 54mg/ | °c
7 B288 () f{ﬂ
NEKEE 4:30 0. 46mg/ | °C
HUEE 3:40 0.52mg/ | °C
8H9A () Rl
NEKEE 3:45 0. 46mg/ | °C
HAFE DO-7. 14 13:45 0.46mg/|| 25°C 88158 0. 01mg/LkiE
8 A9H () o=k 8A9H
NEKkE | D-H. T 13:40 0.38mg/1| 29°C 8H158/0. 01mg/Lk it
N-P&S OEE—7 14:20 0.64mg/1| 25°Cc| = ¢ . 8H258| 0.02mg/L
8A248 () mE | smum
NEKE | OBE—4 14:15 0.50mg/I| 27°c| * 8H25A| 0. 01meg/Lsk
N-P&S EEO-—7 14:15 0.58mg/1| 25°C 98 6H |0 0lmg/Lki 0. 007
88318 (k) o=k 8H31H
NEKiE | BEO—4 14:20 0.44mg/1| 26°C 9A6H| 0.03 0. 029
SERE | BEROMae]  14:00 0.64mg/1| 10°C 28218 0.02 0.016
2 148 (K) =+t - iR 28178
ANEKEE |[EERQLER 14:05 0.56mg/1| 10°C 28218 0.02 0.018
ke |mEeroOma|  14:50 0.66mg/1| 10°C 28218 /(0. 01mg/Lk 0.0097
28168 (K) =F -0 28178
Kig |BEPROAE 14:55 0. 60mg/1| 10°C 282180 01mg/Lk 0. 0089
SERE |mEhgssaae  14:40 0.48mg/1| 10°C 28278 0.03 0. 029
28218 (K) = 28241
K1 BEPRAE 14:35 0.38mg/l| 11°C 28278 0.04 0. 040
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Fk-BER | BKERT E/KE > No. — b5 =
KRR | TRBIEREE| KE | 8K - BIEE | KEBRKE ®REH HoE
HUMEE B gE g 15:03 0.66mg/l| 11°C 28278]0.01mg/L*k & 0. 005
2H238 (K) =Lt -/ 2H24H
K NEKKE 14:25 0.60mg/I| 13°C 28278/0.01mg/LkiE 0. 007
HUMEE B gE g 15:15 0.68mg/I| 11°C 3A7H]0.0lmg/LKi# 0. 003
28288 (k) =t - IMEA 3H2H
Ktz NEKKE 15:10 0.64mg/1| 10°C 3ATH 0.02 0.018
HUAEE B gE g 15:00 0.66mg/1| 10°C 3A7H]0.01lmg/LKi# 0. 002
3H2H (K) =t -ua 3H2H
Ktz NEKKE 14:55 0.60mg/I| 10°C 3ATH 0.03 0.034
HNRE | @OBmhREAg 4:15 0.64mg/1| 10°C 3H9H0.01mg/Lki% 0. 002
3A3H (&) =t -ua 3H8H
Kig @NEKEE 4:05 0.58mg/I| 10°C 3A9H 0. 07 0. 065
©OF-1=ES- PR 4:10 0.62mg/1| 10°C 3H9H|0.01mg/Lki% 0. 002
3888 (k) =Lt -1uQ 3A8H
O/NE € 4:00 0.52mg/1| 10°C 3A98| 0.07 0. 066
mg/ | °C
A B()
mg/ | °C
mg/ | °C
A B()
mg/ | °C
mg/ | °C
A B()
mg/ | °C




